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Refuting the Khath'amiyya's Hadith as Justification of the Permissibility of Uncovering 

Woman's Face  

Nemat Mohammad AlJafary*  
King Saud University  

Abstract: The controversy over the covering of a woman's face is not new. Related arguments for and against covering have their own 

supporting evidences. The advocates of uncovering rely on the absence of a definite statement for covering, and they take  as evidence a 

Hadith mentioning a Kath'amy woman with her face uncovered in the presence of Prophet Mohammad during hajj; the Prophet made no 
remarks, but he only disapproved of Al-Fadhl Ibn-Abbaass's action of looking at her. Having investigated the Hadith in question in terms of 

word meanings and explanations, the research reveals that the woman was actually covered, but the looks of Al-Fadhl were directed to her 

figure, and so there was no need to tell her anything. Words expressing the beauty of her face are not mentioned in all narratives; the majority 
of narratives do not include those words. Even the Zuhry narrative, which is mentioned by the pro-uncovering advocates, does not include 

those words and does not mention that the woman's face was not covered. The Arabic word "wadhee'ah" describing the woman refers to 

whiteness, beauty and niceness of figure. To decide whether she possessed those qualities could be done without having to see the face; 
seeing the feet was sufficient, and hence to claim emphatically that her face was uncovered is unacceptable.   

Keywords: veil – Khath'amy / Kath'amiyyah – Al-Fadhl Ibn-Abbaas – Al_Awazaa'iy – face-covering - Hadith. 
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$$DC 
 I�^
 Q�+���− .��¶0 ?7,s�TD�� ¨A lÅX ���¶G/ , ?~: 

�I|�} .��C Q
H0 , �$F+�, Q
H$��X ���¶G�� *�0 BH��,
�5��C ,1�C7 _�,·�53�h 

Q�$2 L$
 PC ���� = M�v ��: 1�T�� LXV,: @ ?
 
DC �G< .Z9: �² ��E�� M+��� d7�: �
�E�� .+,

 1�T�� LX�� Q�T/ ,Q�+����:´  L$C M$�TC L$X� M|$ £�
�)$��� ��H$Z�� 6�$^: R
 ���<�� = �55+, 67��� 89:, 

l�
Z�� R
 ���¶G�� �7 N,7 )%7?,  �9$��C B��2 
2> : 
� _� Q)$$�	 1$$�C )$$�� L5�D$$� l�H$$D�� �
$$<7 �$$
 


+�H��� s�+~/  :�$5
��<@ 	��} 89;�� ?~X, R$/	, 
�� ���)EX � IC� BFz 1;<�)$² V �
$F; ?)$;� .$K- 

                                                 

51� �   
��)Z�� R��
X�3 174h� 
52��   jD¶���3 325�h 
53��  �GZ��� 4 54�h 

���)\�X � I�HK,� I�7	 �¬�� R/	 N@ ªZ�, h 
 �<�${ N@ �$
-� ��	 �$pk/ �9$��C Q)2 �
7,

�¬��, B��T/  :RD� `7	 )�,j% RD� g, , �]C cF+ 
2, 
�
-� LC 6�H��, Q�2,  :����\�X j5F90 V, §?7 ¢�)��
, 

LGZ0 L
 ÁL5�/,$Z�� �5�7	 89: RO, �� .D;�  �$X ®�
� I2�/ .��+ l�
��, ����\�, �$X R$O, ¦89;X *Dy m/ 

Q�<��, *HD��? ! 67��� N@ �aD�� N@ �¬�� s
K 
2,
¼�;D�� MF2,�aD�� �)59�� ��+7, , �%�
~� ?7 �
FX ���/ 

89;��X,W¶��X Q�+��� �
~�, ;l�GX�� 1aC7 ?);�� , 
.DC �p, ���<�� = b
�-� N@ 
�J�� s�2 m:h 

 B�2 : W$�X l�$Z4 s�)��, Q��H�� �c% �F�
���$<�� = 67��� �< = �DH�� .X �l�+ �
, j$FD�� ?k$/ 

�r¨A V, ���<�� = .+)�� 89: �w �¬� g , mK@, 
 LC j5D��X l�+ m: �{�4 s�TD�� LC j5D��X UD�� l�+

L���ZT��,M�,�Ì$��, U�$]T�� �F$� LC j5D�� l�+, , 
F� LC .�p ?7 �)��
, rc% �l��}-� ?)$;0 �$p7 ��£� g 
�GF�7 �H0 V �/)9;
, �
�E�� ?7 PC d�D�� Rv7 
2 MX 

�$5C	�, �5J�]TX �p
X �H0, .$K
X �H$� M$+��� ?7, 
	����X .�/��7, l�����X, s�$TD�� LC j5D�� q�� ?7 R
 


<�, M�,�Ì��, U�]T��, L���ZT��,, PC ��x� 8�;/ 
UD�� �+)
? !7 .D
 15Z�, �$55+, 89$: �w �� .K

 I�	�$5+ Ñ�� �X,�c$% Ò$G2� U$K b~$/ , ,7 �)$5Z
 ,7 
�E�J
 ,7 d��2 ,7 �)]C? ! M+��� ?
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R$2���, s�$TD��: r	
$2 P$C MJZ��X r�� ��Ã, M$X 
��ZT��: 
��� 	
2 PC MJZ��X �%�� ��Ã �% �
 �  :,, �
7, 

>�, 6l���X .+)�� ��, 1;��X �%��s)^��, 	m; 1$�/ 
.GF�7 .DC .D�h 

 Q�2 L
, :��E�� d7�: �55+, ?@, .$�
 ���/ 
�)]C V, UK *�cX,.���2 �J� V, h 

�]�^C LX� Q�2:´ *�f ?��X, : .$+)�� 89$: ?7
�^:-� 
DC l�HD�� PC �+�, ���<�� = 1���� M%7 L
, 

V �+�)��,  s)$+, V)$�/ ,�+�, )% �
 V@ .O	���
¶0, s��G<V�.+)�� ���  Ä�$0 Ó�$� �$
 �K�+-� 
DC

 = B$$Fz 
$$2, ,���$$<�� Q�$$< .Z9$$: L$$
 �$$+�)��
��¨A, �E�EJ��:  s�$TD�� LC �5D0 �
�E�� 67��� ?7

L���ZT��,·�54�h 
�9�� Q)2 �
7��F�-� ³:´  �
�� BK�: �p7 �% 1z


Ï V *�f ?k/É �$GF�� 	):c$�� Q��X LX� QV
G�� = 
�90 �
�E�� ?- ;*�f �$� ��)+ = �
�E�� ¨A R
 Ä

.��C Q
H��X �55+, hhh �$TGD0 V ?7 �$5��C �$² mK@,
,ºT/  �)² V �K�+-� ��
7 �55+)� 67��� 89: ?7 )�/

 �%�
-�  ®)/ L
 .��C Q
H0 ?7 − �x< LX� Q�2 m:  − 
m�� V,L$5�v7, l�H$D�� LH$<7 L$
 j%,  , ��$: 
$2,

�¾ LGGZ� ?7 d�FC LX� MeZ��, R
,  �$%�
~� g .$�: �c%

                                                 

54��  s��\� ����	 & �18h� 

� �c$% j$Z/ �5DC MeZ�� .+, 3µ MX −  � Ie$�7− 
67��� PC �² V 	):c�� �H�� ?7 PC M���, BK�: )�, 

���v,mK@, �%¨¶� �EGH� m: *�f �w �EGH� ·�55�h 
Q)TK :@�DK  j$FD�� ?7 = ³�9�� R
 8�G�K g� 

 .K- ;�%�
~� g�$
�E�� PC �IF+�, �F{- �%�
7 )�  �
�55+, j�¶0 ?7 , m$K@, ,�$TGD0 ?7 �w �)² V �
�E��,

 .��@ B+�G<� �f@ IV
� �55+, PC Q
H0 ?7 �5��C �²
�K�+-� Q�+��� �)+, 
DCh 

 IVmG<� Ä�D% ?7 m:  jFD�� ?7� s)+)X �5¶�X 
,MTD� g, ,6	�}@ ,7 V)2 �55+, ��´  r�$
7 M$TK �
$�/

�C f@ ,�
-� �
C PC Q
� V *�cX  ��$� M$TD�� �

�
��� �TK·�56�h 
,7  jFD�� 3µ L
 B]5/ �p7� MeZ�� .+, 

�$55+, B$�¶/ ,*�f 	�;K@, j$FD�� �ZG:�$/ � L$C 
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7h 
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£ Íκ Í5θ ãŠ ã_ ( 〈 �¾  ? ¡�  ] G ¡4� / §L £5 S, £� £
  L ¡T §T  }·�57�h  
 	�� �� */�� �J2 = b	��F�� ��E{ = BFz,

 �9��C Ä�0, ,Ë���>B��2 : �hhhh  � 1�/ £� ¡)  T¡�� ¡��;¡D G ¡H
 £r) £� /  	 �< �q � ¡)  ¡w�  � §Z �4, ¤L ¤H$��  �$ ̂ � �
  < I�$  � �	�  + £B$¡D £:  , 

�, £	�  �  ,  M  ]  ¡�� �)£̂  � F  /, §�  ] G$ ¡�� �$
 
$�X b �
 ¡T �C £� ¡
  +  ) / 
 ¢�$� � £� V, ¦��  � �¾  �¡�  �  , ¡1£  w ��� D  
 £B¡| �� / £Ë¡�  ¡��, £B$¡  Í ~  / 

D: bc�� �­ �x¡D  
  ?)$ £� �+ ¡  ̈  / jDK,
TZ�� ¡1£ §p 7 £B¡D D  y  , �.�X B
 £B$ ¡]�D  / j$�D¡�  C j�D¡G F  �  A �­ �x¡D  
 = ¢�  H���  + �K7 � D¡� F  / ­@, ?�$:, 

 �Ë¡�  ¡�� �l�  	  , L
 ¥ ���  ) ¡: §c�� §1£z ¥j �] � ¥H�� �M§�  �£¡�� LX £?�  ) ¡Z  {, 
 �­ �x¡D  
  
¡D �C  � F ¡{ ~ /  [ � ¡� ~  /,  7  � /  ���$ 0 ~  / ¦1���  K ¦?�  H¡K�@  ��  )  � `

 ���  	 �< j�D  /  �  �  /, £B¡a  T¡� G$ ¡�� / �s�  � �¡\� MF2 ���� ?�:, 
 �©�$ F ¡� ���X j �5 ¡+  , £� ¡� §]  � / j�D  /  �  C �< �. �C�  + ¡ �� ¡���X, _�, 

 �. �C�  + ¡ �� ¡�� ¨A I�  ]��  : .D
 B�]� V, I�  ]��  : j�D  ]§�  : �
��58� 
.+)�� ���¶0 = ��µ,s�$�\� M$F2 j$D/��� ?�$:, · 

 �$
7, ,r)+)�� LZ9;� s��\� MF2 l�HD�� ?7 PC M���
r)+)�� ?�H� L;/ s��\� 
�X h 

  �  9���  C LC,>B��2 :´ � D�X  ?, ¥� £]  � £?� F ¡: ¥��� ?�:, 
�§_� Q)$�	 R$
 £L ¡E K  , �  ¢��$  
 ��¡ £�, �$ D�X � ¡,  f�$  < �fk$/ 

 ¡<�@ ¡B �  
  ��$  5 �5 ¡+  , P$C �  5$ ��¡7  	 L$
 �$   ¾� F ¡� �+ �  K�  
, �fk$/ 
 £r� D ¡Z  9  : �  K, £�  ,�  +·�59�h 

                                                 

57� �  b	��F�� .+�47� 4 1782� ¼ ,�4480�h 
58� �  b	��F�� .+�47 �4 1774� ¼ ,�4473h� 
59� �  �,�� )X7 .+�47 �2 167�,  ¼�1833�h 

 L$X �6  ̈ $ �¶£¡�� r�,	 bc�� n�
\� M
~GK ?7 �DFH<,
Q�2  � F ¡� £}:� jFD�� £B¡�  0 7 � �$  5£F £� ¡4 7 I6 7  �$ ¡
� .� £� ¡�  :  c /, 

Q�T/:�$  5¡�  ��@ ¡�£a¡K�  / ¡�  % ¡f� ,$ £� ¡? 7 £	  
$ ¡+ 7 .$Kk/  ,  m £; D$¡�  X  �  � ¡�
  m£ £± ¡  �$ ¡4 7  , �$  ¡�  ) X 7 N@ �$  5£G¡F  �  � / �	�  J¡K  ¡-� L
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 £6 7 ¡� ¡��,�  % �	 ¡
 �4 =  j �%  , ,�§_� Q)$�	 ?�$: ?@ B��T/  � 
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 7 ¡�£a¡K�,*$�f ¡B  ] a ¡C 7 �  §p ~  :  Ä £
 £9¡K ~  / §V�@  , , 
Q�2:�  5£G ¡+ §,  x G  / �  5¡�  ��@ £� ¡� a D  / ,�  5�G  T  /�  ) £
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 �:c/ ��60�h 

M
~G/, jFD�� ?7 8�: � �aD�� PC 6¨¶�� §n< 
 ,6	)H$�
 L$;0 g �$w .$G�È	 ?7 PC Q
� mX .GX)�� N@

�EG
 §L$$: l�H$$D�� ?7 �$$O)� �c$$%, ¦���0�$$� ��$$F
 *$$�f 
$$:��, ,L5%)$$+)�−  I�e$$�7−  67�$$�� M$$%7 ?7

 �$aD�� 6¨$¶�� �$�S �)]a�G$�� *�c$: j%, �X)����
 1p7 V@ .F��� r)F�² ?7 15C�DG
� LC 15/�� g, ,�5��@

 _� Q)$�	 ?�: ?@ .D
 �)Tz)G���r�
~$� g ,7 r�$
7 h 
Q�2  6  � ¡�  � £% ©7 LC,:jFD�� N@ ¢M £+  	 l�+  � �$T/Q:  �@

 �	�  J¡K  ¡-� L
 I6 7  � ¡
� £B ¡+ §,  x 0,j$FD�� .$� Q�T/  �: � M$%
�  5¡�  ��@  � ¡� a K?�|�} �	�  J¡K  ¡-� �?)£� £C = ?k/ � £� ¡� a K 
2 Q�2 

�  5¡�  ��@·�61� �$
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 ,L
�$$Ã g °�$$�� l�H$$D�� = �/,�$$�
 �$$K�: L���$$ZT��,
L�
�7, L5%)+, �� ªGT� *�f,·�62�h 

 �$�< LX� Q�2,:´  Im�
$2 l�H$D�� 6��$C Qx$0 g,
�K�+-� LC L5%)+, ?�H� I�^�
<,·�63�h 

* * * 
E�46�� ��+�� 

����-���	�Q� )3 ��+N�6�� �	��e��  ���2���  
\� �c% L
 lm���� ºFDG��
��)/ 6
C n�
: 

1 − ,�$$T��
 �$$X�
�� B$$K�: �f@ 3��	�� ��)$$+ 
 [$\� = m�$� V, ,t��$� l�$�È���, 6��H�� 3��	��,

d�D�� 1<�xG�, .$�/ s):��� ?-, ,���+��� ¨� �T9
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Me/7h  

2 −���<�� = �55+)� 67��� 89: , ��v@ )%, 
��� 
FC LX� �]C )X7 r�;< m:h 

3 − ½� = �$:	 �
 ?��X �$
, 6)59$�� L$
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�
�DH\� 6	)J�� N@ �aD�� L
 .��C .C�FS B�F+, �F��¶
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 L$$
 .$$�/ �$$:	 m$$C .Z�$$O, ��� L$$XV ¬$$F�� ��$$FS
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4 − .$G���@, ,r�	 �f@ .D;
7 �
 �;D]�� g���� ¨�¶0 


���Xh 
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-� 
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62� �   ,	)D�� 6	)� ¨HZ0V ��]�0 LX�56h� 
63� �   b	�F�� �G/�9 324h� 
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 = ?7 PC Q
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��
����,h 
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8 −�$$��
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��K
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C ?�: �f@ �
7, 
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$<7 ��$0 �f@ .K7 n�
\� L
 c4��,

\�XDC [\� .
x� r¨A LC [,. .$��C �$² V ?�$: ?@, 
 ��x��$X R��GH$
 �$%�X7 ?7 �F0 g 67��� ?7 .5+,, ,[\�

��<����,, MJZGH� g, �*$�f L$C , .$K~X �c$% �	, 
�
\� = ��� ��$�G� 1$�/ ,s)+)�� V l�x+�� V@ n
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2 �p7 �)² .K~X, 
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�:[$\� = r��$FC P$C _� �e��/ ?@ ; �$pk/ 
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�C��G�V�h  �e$��/ L$C [$\� l�x+k$X ?)���T�� �Z0�,
 LC V@ Çx² V .K~X ¨¶�� x$�C L$C 6	
2 �
C ,7 �)


 N@ �$Z�D< )$X7, 
$�7 �$%f .Kk/ MZD�� 3��X r)EK,
.�/ ¨¶�� LC �X��D�� ��)+h� 64�  

10 − P$$C .$$GDX� M$$+��� ��$$�� ?7 ��)$$+ .$$�/ 
���J�� M+���h 
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 L� �/�4 ,67���
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